PNS School of Engineering & Technology
Nishamani Vihar, Marshaghai, Kendrapara
Internal Assessment Examination-2022(1st Semester)
Subject : Th-3-Engineering Mathematics-I
Branch : Civil, Mechanical, Electrical, Comp.Sc & ETC Engineering
Time: 1% Hours F.M. : 20
L Answer the following questions.(any Five) 2% 3]
(@  Express sin1400° in terms of T-ratio of an

acute angle.
(b))  Construct a 2 x 3 matrix having elements

a,.j.=z+j, V1, J

o wal) 7 sl] ¢ o

Find34-B
(d)  Find Inverse of the matrix [ : }2]
(e)  Solve: a-I 2| 0
a
7, Findx andy if [x:y :y] _ [142 g]
I 2 4
(e IfA=|-1 0 2] then find
1 1 1 .

M, and M, where M is the minor of a ¥ ij
2. Answer the following questions.(any Two) {J K2

|7 2 3 1 2
@ 14 _[3 _2 1] B 2 0] then verify that
-1 1
(AB)T= BT AT
(b)  Solve by Cramers Rule : 4x -y =9, 5x+2y =8
© Prove that

a b c
a?  b* c?|=(a-b)(b-c)(c-a)(ab+bc+ca)
bc ca ab
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